
Formelblad – Induktion 

Inducerad spänning + Faradays induktionslag 
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Växelspänning 
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Elektromagnetiska vågor 


 =
	

�
 

0�12 =
3

 
 


 = 4 ∙  5 

� = �67(��837	�9ä66*6; 

� = ℎ3��*;ℎ�� 
� = =3;6��*�>	!�ö7���ä�ℎ�� 
� = ��738�6�	�ä6;7	(7�6	7���6	��=	ä8	*	=3;6��!ä����)	
� = 8��*��36�	 
� = ��8ö= 

	 = �!!�>�	

 = �9ä66*6; 


 = >83!�	9å	�6	��738�	*	���	=3;6��!ä�� 
Φ = =3;6��*�>�	!�ö7�	
� = ��738>8����6�	38�3	
� = �*6>��6	=���36	38�36	��ℎ	=3;6��!ä���� 
7Φ

7�
= 7�8*�3�36	3�	Φ	där	t	är	variabeln 

� = 36�3�	�38�	(����8	36�3�	��738��*6;�8) 

������ = =�7���ä87��	3�	�9ä66*6;�6	(67�8	�*7�6	∆� 

� = 38I���/�6�8;*   

Φ = =3;6��*�>�	!�ö7�	
� = ��738>8����6�	38�3	
� = 8��3�*�6��*6>�� 
� = �*6>��ℎ3��*;ℎ�� 
� = �*7 

 = �*7	!ö8	���	�38� 

! = 8��3�*�6�!8�>��6� = 36�3�	�38�	9�8	��>(67 

� = *67(��837	�9ä66*6;		

�̂ = () 	 = �9ä66*6;�6�	��99�ä87� 

K̂ = ��8ö==�6�	��99�ä87�	
�� = ��8ö==�6�	�!!�>�*��ä87� 


� = �9ä66*6;�6�	�!!�>�*��ä87� 

	����� = ;�6�=�6*���*;	�!!�>� 


/ = �9ä66*6;	*	�9���	1	�*7	�836�!�8=3��8 


. = �9ä66*6;	*	�9���	2	�*7	�836�!�8=3��8 

�/ = ��8ö=	*	�9���	1	�*7	�836�!�8=3��8 

�. = ��8ö=	*	�9���	2	�*7	�836�!�8=3��8 

�/ = 36�3�	�38�	*	�9���	1	�*7	�836�!�8=3��8 

�. = 36�3�	�38�	*	�9���	2	�*7	�836�!�8=3��8 

U = (���8å�6*6;��ä�ℎ��	
	 = (���8å�37	�!!�>�	

0�12 = �å;�ä6;7�6	!ö8	�6�8;*=3N*=(=	
3 = >�6��36�	�*7	!ö8�>O(�6*6;��3;�6 = 2,9 ∙ 10STU= 

 = ��=9�83�(8 

4 = V��!36 − ����X=366�	>�6��36� = 5,67 ∙ 10−8 

 


